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fore geRTT-HYANl § SrfedsH 787 fenerd! 2

[

(1) TFr<ei®

(2) dIisHg

(3) IH Hew SEAfEn
(4) &

f=fefiga @ @ 991 ey vy H T G S Gy
uEn fiehe TFary quiian B, TTEH i ol Th-gat o forT
31T Sfiad sk Ut 7T R Tehat ?

(1) gFHr
(2) el
(3) &rEiger
(4) T

qTedi gRI @18 i Tawyy (faigd 4 & fpe w9 4
BT ® 2

(1) %™

(2) Had a

(3) Wi

(4) i 3R % gH

fefafga @ @ ST o S 4 whifq =
T & fou Saterf 2 2

(1) wifsTm

(2) HiefEm

(3) wifIEm

(4) hfcaEm

T U 1 Sgd & a6l o AU gd AieeeH # fRE
AU T WUSHOT {3l T T B 2

(1) -80°C

(2) -196°C

(3) —120°C

(4) -160°C
2y fm=m = g 2

(1) T T JHb I gl YA hegehl o H1Y HATH

(2) G T IHhI HI Teh IS o A1 HATH

(3) TH WM Tl % 1 R IWR H A fr IS

1Y TAIH

(4) T G IR e

HITHR va8T § NAD* 3t oftreht 1 2 2

(1) 9§ T Soiagi aTsh & ®9 § S il 3 |

(2) g’gq.ﬁﬂﬁ. Ty & e us feeEiese |
|

(3) W€ Ush U-ATSH &Y H % Hdl 2 |

(4) ggaamaﬁaw%%qaﬁnséaﬁ?m
|

Oxygen is not produced during photosynthesis by
(1) Nostoc

(2) Cycas
(3) Green sulphur bacteria
(4) Chara

Which one of the following plants shows a very
close relationship with a species of moth, where
none of the two can complete its life cycle without
the other ?

(1)  Yucca

(2) Banana

(3) Hydrilla

(4) Viola

In which of the following forms is iron absorbed
by plants ?

(1) Ferrous

(2) Free element

(38) Ferric

(4) Both ferric and ferrous

Which of the following elements is responsible for
maintaining turgor in cells ?

(1)  Sodium

(2) Potassium

(3) Magnesium

(4) Calcium

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -80°C

(2) -196°C
(3) —-120°C
(4) -160°C

Double fertilization is

(1) Fusion of one male gamete with two polar
nuclei

(2) Fusion of two male gametes with one egg

(8) Fusion of two male gametes of a pollen tube
with two different eggs

(4) Syngamy and triple fusion

What is the role of NAD' in cellular
respiration ?

(1) It functions as an electron carrier.

(2) It is anucleotide source for ATP synthesis.
(3) It functions as an enzyme.

(4) Tt is the final electron acceptor for anaerobic
respiration.
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10.

11.

12.

13.

&gt g 1 T :

(1) Fyx 3wt SHs  —  fgwet sig
(2) dAw=. qH —  ORShHT

(3) TzASTEH  ENERE I
(4) <ft. gsa — B

HHE THR] H ..U & Th Zohe & (HovH & g
frfafga & & H-a1 99 gm=IG: Y R S
87

(1) Tiwnsae

(2) A%

(3) AW (Je a15H)
(4) pBR 322

JEUSER FFET IR WSl grt et g W 3wk
A s fomr SrEfta & SgwaneH % ITEET Sl
g AT 8 ?

(1) ST (S geya)

(2)  JAg-ITTEH

(3) Sa-3g=H

(4) SN

et I % fou gafiea: wuiafa el
Yo % TR H GUEAT o Hodiehd o U WA H hi-a1
TS Iaerl § 2

(1) 3 wa Sfenfies g™ aftsg (CSIR)
(2) AR giETeH THEYH Afbfd (RCGM)
(3) NN AR sHe™ uRiwg (ICMR)

(4) STgafReR AMEIEER Youe |fifd (GEAC)

Uiferis Sf@e Ak (PCR) § <RI 1 &8 %A
G ?

(1) 3o, foeaon, faepdiem

(2) faepdieto, fowaon, swiem

(3) Towaw, fospdiertu, rfieH

(4) Taepdieton, e, foreawo

e faesht ot g =mae itk 99 fRe i uewe
(wehear) Toparm o o, wrarfy U fored Wi A o W
g foemm 2 | =8 forom grafeq 2 2

(1) et FE/

(2) <MW U

(3) Co-667

(4) <TEHd

10.

11.

12.

13.

Select the correct match :

(1) Fy x Recessive parent Dihybrid cross
(2) T.H. Morgan -
(3) Ribozyme -

(4) G. Mendel -

Transduction
Nucleic acid
Transformation
Which of the following is commonly used as a

vector for introducing a DNA fragment in human
lymphocytes ?

(1) Tiplasmid

(2) X phage
(3) Retrovirus
(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(1) Biopiracy

(2) Biodegradation

(3) Bio-infringement

(4) Bioexploitation

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Council for Scientific and Industrial
Research (CSIR)

(2) Research Committee on Genetic
Manipulation (RCGM)

(3) Indian Council of Medical Research (ICMR)

(4) Genetic Engineering Appraisal Committee
(GEAC)

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1) Annealing, Extension, Denaturation
(2) Denaturation, Extension, Annealing
(3) Extension, Denaturation, Annealing

(4) Denaturation, Annealing, Extension

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(1) Sharbati Sonora
(2) Lerma Rojo

(3) Co-667

(4) Basmati
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14.

15.

16.

17.

18.

19.

Feferdt @ s srfium 7 2

(1) SR

(2) STETH ! Bled ATl sAfeeAl hi G&A

(3) TR

(4) TH EE U A % I el H qed
forgar oo feam et o ST ® 2

(1) 2130«

(2) 16 faarsr

3) 5

(4) 2230«

frfafed 3 @ ®F- w s 9w 2 2
(1) CO,

(2) SO,

(3) CO

(4) Oy

freha R 2

(1) o8 Wifde TAM &l Ueh Saurl &l 2
(2) AUHH HT 98 WE S Sg I B fAg

=AY
(3) S & waieer d wHft Sfos s

(4) TH g grr g wEioas fie, & 98

Tl 2
Frafafaa stieet & fora g 1 wiitfeafadh fifirs
e ek ST 2
foeffore Susierar : 120 g
i UM : 60 g
1R 3cUeh : 10 g
(1) ot w1 TR

(2) G 1 Hen fitfre
(3) ATHENT 1 Ioar TRifirg
(4) SaHET 1 e e

THaIEed W, fH % fashdiewr e smfvaes
st 1 fogfea o ffofgs d @ #9-w o=
IUTH % &Y F HE BT 8 ?

(1) Cl

(2) Fe

(3) hEA

(4) ATFENH

14.

15.

16.

17.

18.

19.

Natality refers to

(1) Birth rate

(2) Number of individuals leaving the habitat
(3) Death rate

(4) Number of individuals entering a habitat

World Ozone Day is celebrated on

(1) 21 April

(2) 16th September

3) 5% June

@) 22" April

Which of the following is a secondary pollutant ?
(1) COq

(2) SOy

3 CO

(4) Og

Niche is

(1) the physical space where an organism lives

(2) the range of temperature that the organism
needs to live

(3) all the biological factors in the organism’s
environment

(4) the functional role played by the organism
where it lives
What type of ecological pyramid would be
obtained with the following data ?
Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer : 10 g
(1) Pyramid of energy
(2) Upright pyramid of numbers
(3) Inverted pyramid of biomass

(4) Upright pyramid of biomass

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

1 <
(2) Fe
(3) Carbon
(4) Oxygen
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20.

21.

22,

23.

24.

25.

26.

frfafea & @ w31 3 7e77 €9 § gAfera 8 2

(1) ABO T g . HEYHTeT

(2) XO R fom frufmr . feger

(3) WS H HS WRAWUl  : Wgforhodl

(4) A=, A= ;. HEAEAl

g HUH I T

(1) e o ue fefew amfies g fasnfa fomam mn
o |

(2) TATSHEET TAMIEO § 9HT o & |

(3) “dgaar’ weg i I Hehfo TeTEd o foha |
(4) UTSHHYT Sl @IS TH. 3Teed o i off |
ST, & e Siahld H IR SH gEyem
fere aeria T o 2

(1) Sframy §

(2) urew d

(3) s A

(4) foumop o

gt guel bl gMT :

(1) ks g i mai =g — A,

(2) ey BcEH N Uh. WIEd — 7589 J2l3a9

(3) Tk A% - ZPEIHIHT
(4) THoT™ Johe AT Add AFIS — oo ST

‘STRded fohteh gRT IcqTled BId @ ?
(1) EH fawsa g

(2) SAFNEHT g

(3) g fawrsH g

(4) IAFNYEHT g

frafafaa o o forat 3gs Seq #1a § Shad T 91
& T BT 8 ?

(1) hegd

(2) ™

(3) i Tfisfia

(4) vdIar

frafdfga & @ S9-a wm H Sfeawa & w9 A
ieferd <t § e Hiied g3 ?

(1) A aTel 3F=d:

(2) defia Te=a

(3) W fohe

(4) THOHARAA

20.

21.

22,

23.

24.

25.

26.

Which of the following pairs is wrongly

matched ?
(1) ABO blood grouping

(2) XO type sex
determination

Co-dominance

Grasshopper

(8) Starch synthesis in pea
(4) T.H. Morgan

Select the correct statement :

Multiple alleles
Linkage

(1) Punnett square was developed by a British
scientist.

(2) Spliceosomes take part in translation.

(3) Franklin Stahl coined the term “linkage”.
(4) Transduction was discovered by S. Altman.
The experimental proof for semiconservative

replication of DNA was first shown in a
(1) Bacterium

(2) Plant

(3) Fungus

(4) Virus

Select the correct match :

(1) Alfred Hershey and - TMV
Martha Chase

(2) Matthew Meselson —  Pisum sativum
and F. Stahl

(3) Alec Jeffreys — Streptococcus

pneumoniae

(4) Francois Jacob and
Jacques Monod

Lac operon

Offsets are produced by

(1) Mitotic divisions

(2) Parthenocarpy

(8) Meiotic divisions

(4) Parthenogenesis

Which of the following flowers only once in its
life-time ?

(1) Jackfruit

(2) Mango
(3) Bamboo species
(4) Papaya

Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Cellulosic intine
(2) Oil content

(3) Pollenkitt

(4) Sporopollenin
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217.

28.

29.

30.

31.

32.

33.

34.

IR % 1 Afereafireh SricHs THg HH-9 8 2
(1) rater 3 Afdrer
(2) i N BEHe
(3) wTESifead R Ui

(4) el 3R BIFS e

Frefrfian & & - T qEehegh 78 2 2

(1)  TwEHEFEIRTT
(2) AIEIF

(3) @IFnFTSHIST
(4)  7itgaeIRET

frefafga @ @ S T THR-GTAN0 HI TR
rtrfsha &1 3IcuTe 7ET B 2

(1) NADH

(2) NADPH

(3) ATP

(4) Oxygen

Tt Y fasfierar ferem gwfea 757 gt 2
(1) 9w d

(2) O, Higal &

(3) dUHE

(4) CO, Higa &

oot |y fped T ofar 8 2
(1) @ret gieeprsti & a9 §
(2) Sampeh § vaed §

(3) o1 A % HAUHA H
(4) Ui A & Gishaor

Higep & fou ffofiga & & wH-a1 o 2 2

(1) At

(2) I8 S H AW AT B |

(3) Temfora i shifdrepratt § w2 hiegsh g1 & |

(4) I8 TEEHA RNA HYAT0 o1 fhamsfiar Toret
2

FHa TS TORGAT hT JFRUTT fohe TTawen H TR

BT @ ?

(1) fgug

(2) UTfshH

(3) ¥YUg

(4) JWUg

o 1 ot § Y g B 2

(1) JHhThR

(2) IR

(3) SIATHR
(4) QIARIHR

27.

28.

29.

30.

31.

32.

33.

34.

The two functional groups characteristic of
sugars are

(1) carbonyl and methyl

(2) carbonyl and phosphate

(3) hydroxyl and methyl

(4) carbonyl and hydroxyl

Which among the following is not a prokaryote ?
(1) Mpycobacterium

(2) Nostoc

(8) Saccharomyces

(4) Oscillatoria

Which of the following is not a product of light
reaction of photosynthesis ?

(1) NADH

(2) NADPH

(3) ATP

(4) Oxygen

Stomatal movement is not affected by
(1) Light

(2) Ogy concentration

(3) Temperature

(4) COgy concentration

The Golgi complex participates in

(1) Formation of secretory vesicles

(2) Respiration in bacteria

(8) Fatty acid breakdown

(4)  Activation of amino acid

Which of the following is true for nucleolus ?

(1) It is a membrane-bound structure.

(2) It takes part in spindle formation.

(8) Larger nucleoli are present in dividing cells.

(4) It is a site for active ribosomal RNA
synthesis.

The stage during which separation of the paired

homologous chromosomes begins is

(1) Diplotene

(2) Diakinesis

(3) Pachytene

(4) Zygotene

Stomata in grass leaf are

(1) Kidney shaped

(2) Rectangular

(3) Dumb-bell shaped

(4) Barrel shaped
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35.

36.

37.

38.

39.

40.

41.

el afgal wal 2l 8 2
(1) uRww

(2) depd

(3) SR

(4)  I=dEcd=l

a8 ured -4 & T fgdtes gig ongl = feegpet et
2t 2

(1) 9T STaasisit

(2) wHU

(3) w@HE

(4) wghed

v fore Bt § 2

(1) TIA-ICAT STAgfirg §
(2) TR drewi |

(3) avmEgg |

(4) omH Segig §
SeRTehe TohEeRT FT-RUT 3 2

(1) T9ETtes g

(2)  HqEa g

(3) 1

(4) 9ehg

fefioraeht 7 # fecfiae Ssem it weiuw formd 3ca=
AR ?

(1) Hagd Tl

(2) <hASH

(3) fdey favsan

(4) weflF fawsn

Fr=fefiga @ @ wF-a1 %9 &g ® 2

(1) 71Fefoder ts  foudeiemy aenm g, Sk
GedlfF7 T THSIST] Il 7 |

(2) TEe™ IFAFasS 7 |

(3) SHgaeifEl | siemve e fufd g ufeg
& B |

(4) TrEHE AN [Fgg T T FIEROEET 99 AR
B E |

W%maﬁgﬁq:

(1) S *1 grey SRAfeARRET 8 8 |

(2) THUSISHE # 4y =l 3 G g0 i <6l
AT F

(3) hdehl 3T YU A & Hew § <hifrehr i
39feord gt B |

(4) HHAU Hl B gt Sesrrai i wifsesr |

FFARTRIC Teh WS & |

35.

36.

37.

38.

39.

40.

41.

Casparian strips occur in
(1) Pericycle

(2) Cortex

(3) Epidermis

(4) Endodermis

Plants having little or no secondary growth are
(1) Deciduous angiosperms

(2) Conifers

(3) Grasses

(4) Cycads

Pneumatophores occur in

(1) Free-floating hydrophytes
(2) Carnivorous plants

(3) Halophytes

(4) Submerged hydrophytes

Sweet potato is a modified

(1) Adventitious root

(2) Tap root

(3) Stem

(4) Rhizome

Secondary xylem and phloem in dicot stem are
produced by

(1) Vascular cambium

(2) Phellogen

(3) Apical meristems

(4) Axillary meristems

Which of the following statements is correct ?

(1) Selaginella is heterosporous, while Salvinia
is homosporous.

(2) Horsetails are gymnosperms.

(3) Ovules are not enclosed by ovary wall in
gymnosperms.

(4) Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :

(1) Mushrooms belong to Basidiomycetes.

(2) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(3) Cell wall is present in members of Fungi
and Plantae.

(4) Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.
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42.

43.

44.

45.

guel WrTehvT fehe g 8 2

(1) Giseg

(2) ™

(3) THl

(4) 9E7g

frafafiga & @ forem Shegopgerem aen sreEfifavmem
% ugETq s sfgstia &9 § 3w 8 8 2
(1) 37T

(2) UiRea

(3) =Rt

(4) dImrseis

ey 1§ &) 8 Hel w1 wqvy 11 ki wel & firem fifvg
i e feu U fosedi & @ @gt fawew =1 wA

HINT

ey [ ey I1
a. UQUEd i Oed ded SR S %
TUE T Teh TN |
b W i, Uh&F e s g} Sfa
=1 fafergees e #d 7Y 3k
T Tga T grwar & g
HiET U A §T Th A |
[¢ W 111 Q’HTFWGETWH@@[
FEHL 3N R T T
TR o TG AT 2 |
d. TUEH  iv. T Gikaehr fw aegon it e
(SheTeAtT) 3R 37 foehed B1d &
faftre afent <t vgem & o
TEH Bd 2 |
a b c d
(1) i i i iv
2 i v i i
(3) i iv i i
(4) i iv i ii

frefafea & @ SA-81 7077 &9 1 gAfaa 8 2

42.

43.

44.

45.

Winged pollen grains are present in

(1) Cycas
(2) Mango
(3) Mustard
(4) Pinus

After karyogamy followed by meiosis, spores are
produced exogenously in

(1) Alternaria

(2) Agaricus

(8) Neurospora

(4)  Saccharomyces

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column 11

It is a place having a

Column I

a. Herbarium i.
collection of preserved
plants and animals.

A list that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

A booklet containing a list
of characters and their

d. Catalogue iv.

alternates which are
helpful in identification of
various taxa.

a b c d
(1) it ii i iv
(2) i iv iii i
3 i iv iii ii
(4) il iv i ii

Which one is wrongly matched ?

(1) feemamfis = q - ’ﬁ ‘i It (1) Biflagellate zoospores — Brown algae

(2) ST G — AT (2) Gemma cups —  Marchantia

(3) UHHIMGH JUh  —  GHTAEHIT (3) Uniflagellate gametes — Polysiphonia

(4) UehehIfyTeh Sia - FARAT (4) Unicellular organism — Chlorella
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46.

47.

48.

49.

50.

51.

0 § DIF-HT HUF Te7d 8 ?
(1) g Sifsmemioes & g 8t 8 |

(2) TATSHITATTH T qh BT & & dh 38 IS
AT ST I3M o foty NAD fireran & 2 |
(3) TCA sk o U3ITsH FFAhTRT o e | oo

B 2 |
(4) STToETohONl  BIEHINGIRT HFHROGRT I o1
forgi o afea grar 2 |

@ % five geaa: foreeh o4 81d & 2
(1) DNATI RNA
(2) —gfFash 37 Td SER

(3) WM w fufus

(4) H¥a TsEEm W@ RER

Terd e &1 ==e il

(1) taEm — o Torg

(2) SUNEThG! TRE — L-3hRIT R
(8) dwgmEd - f % g
(4) wEUER EE - UfFRREEl % 3TSh

% UgrafsHs epem (RER) ¥ f=fafed & @
HH-H T 77 Fe ?

(1) TEH I TATEHIHATH

(2) Hehd UeIES 1 ferger

(3) WA H I

(4) HEHTAUS HIATT

feffiaad # & S8 winfies wee AHa dfo=mE
! aftfd id & ?

(1) e, fgamed, foomedt

(2) OTEEET, THARGd, FHEdT

(3) e, fgamadt, wHadt

(4) e, foamed, fowwedt

5d ¥ TEEEH TH mRNA § §9g T THAY
qifcieerse I 3 WAl S B | UsEEm i UE
sgenal @ = b E 2

(1) wgae fiug

(2) wfecem

3) &g
(4) Higw™

46.

417.

48.

49.

50.

51.

Which of these statements is incorrect ?
(1)  Glycolysis occurs in cytosol.

(2) Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(3) Enzymes of TCA cycle are present in
mitochondrial matrix.

(4) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

Nissl bodies are mainly composed of
(1) DNA and RNA

(2) Nucleic acids and SER

(3) Proteins and lipids

(4) Free ribosomes and RER

Select the incorrect match :
(1) Allosomes

(2) Submetacentric — L-shaped chromososmes

— Sex chromosomes

chromosomes

(3) Lampbrush — Diplotene bivalents
chromosomes

(4) Polytene — Oocytes of amphibians
chromosomes

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1) Protein glycosylation

(2) Cleavage of signal peptide

(3) Protein folding

(4) Phospholipid synthesis

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Heterodont

(2) Pleurodont, Monophyodont, Homodont

(3) Thecodont, Diphyodont, Homodont

(4) Pleurodont, Diphyodont, Heterodont

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Polyhedral bodies
(2) Plastidome
(3) Polysome

(4) Nucleosome
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52.

53.

54.

55.

56.

57.

fferfaa § @ si-a1 =g guardt 737 8 2
(1) @

(2) Jdorg

(3) 7w

@) Rper

FIEH! TG o I gl hl TgEE HIT ST
9= 7 | 3 U e grr sifvated @ |

(1) TAfen

(2) wiH

(3) UfFpforn

(4) oAifeeaefis

Fr=feifigd & @ 90 T T Sl 6 T8I AT

hiehle ¥ Hd & ?

(1) Y= 3 i Iufeufa

(2) & YR H=se Higd 3 1@

(3) d I W W AT & HAHR kI Uy i
Iufeafa

(4) Tee@ 6 ufeufd

Frafafed & @ -9 9 qg@rRl § g8 39ESH &
Y I AR ?

(1) sEeE

(2) HEASFATET

(3) SEATRASTCE
(4) FAHESH

fafereem o @it Tersert & fohe R fim & 2

(1) 38 rfdfa ot = e & fow agaefia
gt gt B

(2) 3 RPN A gehed & fIT wrery w1 S W @

(3) I T o foTu Humfirent 1 TN Hd &

(4) T 3 THR % Hoh B 8
frafrfiea Fegall 3 & B4 I FEAE TH FW 0
(1) gfehe

(2) wiy

(3) ehgeT
(4) TRy

52.

53.

54.

55.

56.

57.

Which one
homeotherm ?

(1) Chelone
(2) Camelus

of these animals is not a

(3) Macropus
(4) Psittacula

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Reptilia

(2) Aves

(3) Amphibia
(4) Osteichthyes

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Presence of caudal styles

(2) Forewings with darker tegmina

(3) Presence of a boat shaped sternum on the
9% abdominal segment

(4) Presence of anal cerci

Which of the following organisms are known as

chief producers in the oceans ?

(1) Diatoms

(2) Cyanobacteria

(3) Dinoflagellates

(4) Euglenoids

Ciliates differ from all other protozoans in

(1) having a contractile vacuole for removing
excess water

(2) using pseudopodia for capturing prey
(3) using flagella for locomotion

(4) having two types of nuclei

Which of the following animals does not undergo
metamorphosis ?

(1) Tunicate
(2) Moth

(3) Earthworm
(4) Starfish
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58.

59.

60.

f=fefiaa & @ wi9-an faehey swaw: @ 3R aaehifa
T %hel hl auT ! 3 T 9 eiar B 2

(1) voEfer i g 4 fuesdr; v Hag °
Aferehdr

(2) YIE TAg | SAfeehdr; yadien § Iy
(3) vagfyeRt § NY; YIE g § HHt
(4) va& g8 | oY vaEie § Wy

ey 18 &) 78 9e o w11 1 9e 8 faam hifs
s =9 feu U foswmedi & @ @E Oy w1 ==

T

T 1 Eary 11
a. oo suae i, < 3rfere W W e
% o=
b. o wuwe ii. e e e g
gt & o=
c. AT HURH  iii.  erfed sfere W arfe
fem & =
a b c
1) i 111 11
2 1 i1 11l
(3) 1i i 11
4) 1 i i1

T I H & TS Hel o TR 11 <kl wel 9 e hifs
IR o few MU fomewi 0§ @ET famew &1 WA

T

&y [
a. AN I¥AA i.
b. JAvEEd giEd i

ey I1
2500 — 3000 . <.
1100 — 1200 fi. <.

3T

c. TvaEs gfea iii. 500 — 550 fir.ofh.
AT

d. fafe T iv. 1000 — 1100 ..
a b c d

(1) i i iv ii

2) i iv ii iii

(3) i i i iv

(4) iv i ii i

58.

59.

60.

Which of the following options correctly

represents the lung conditions in asthma and

emphysema, respectively ?

(1) Increased number of bronchioles; Increased
respiratory surface

(2) Increased respiratory  surface;

Inflammation of bronchioles

(3) Inflammation of bronchioles; Decreased
respiratory surface
(4) Decreased respiratory  surface;

Inflammation of bronchioles

Match the items given in Column I with those in
Column IT and select the correct option given
below :

Column 11

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

b.  Bicuspid valve ii. Between right
ventricle and

pulmonary artery

c.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

1 1 iii ii

2 1 ii iii

(3) it i ii

4) i i iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1
2500 — 3000 mL
1100 — 1200 mL

Column I
a. Tidal volume 1.

Inspiratory Reserve  ii.
volume
c. Expiratory Reserve iii. 500 — 550 mL

volume

d. Residual volume iv. 1000 — 1100 mL

a b c d
(1) iii i iv ii
2) i iv ii iii
(3) it ii i iv
4) iv iii ii i
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61.

62.

63.

64.

fferfaa & @ wi-an g Wi sret 8 ogeqs g
27

(1) TFSEHH
(2) TEfeATd
(3) TfUHH
(4) TufEgstia

frafafga & @ SH-H GEAT Ayar & 396 w4
TeTd &9 9 Ifd g 2

(1) fafmda : dgel % a9 o aEE &
fafers &1 1 o # el

&, 7 w1 FreEor e |
: Towiem gfHET o1 3eated T
YU, & qAT AT
T e |
=1 ffa & |
: o8 Ug erd gAfEdsh Merret
%I SIS a1 dqel 1 gE |

(2) TENSTHT

(3) AT TSAT

(4) YT heAEH

AFe 99 H qresf o fordes g o1 THH W&
22

(1) e & g8 e g

(2) emeim & S fush afdm g
(3) UEHY HE ¥ IS T g

(4) ey @ A I Fomt Al g

ffafga 4 @ frm gm 1 sfegiea 4 g
e 2 ?

(1) YSEIH T8 Uesheld

(2) TEGISH Td HATSIES BHM

(3) UrSRUH Td Hreifeed

(4) TUATIES FHMA T WcAfred

61.

62.

63.

64.

Which of the following is an amino acid derived
hormone ?

(1) Ecdysone
(2) Estradiol
(3) Epinephrine

(4) Estriol

Which of the following structures or regions is
incorrectly paired with its function ?

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(1) Limbic system

(2) Hypothalamus production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

(3) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

band of fibers
connecting left and
right cerebral
hemispheres.

(4) Corpus callosum

The transparent lens in the human eye is held in
its place by

(1) ligaments attached to the iris

(2) smooth muscles attached to the iris

(3) ligaments attached to the ciliary body

(4) smooth muscles attached to the ciliary body

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Progesterone and Aldosterone
(2) Estrogen and Parathyroid hormone
(3) Aldosterone and Prolactin

(4) Parathyroid hormone and Prolactin
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65.

66.

67.

68.

AT S ST W@ % T AT H9-9 gHE @
w7 2

(1) hCG, hPL, T&eieH, ffeam, srifeaertam

(2) hCG, hPL, 9IST&ISH, TEISH

(3) hCG, hPL, YSiEie, Tetfaed

(4) hCG, INENH, TENH, '('LdolchTré*Tss

TR ‘T’

(1) TRl U TS 6 "igdl & dgrl 8 U4
STSrcdT hl Ushdl B |

(2) WHIUD® I

(3) TS § TEISH UTEl hl Ta%6g hidl & Td 3Te
o 9T T Tehd! & |

(4) TH TE-AYT THARIEH 7 |

YIS TS YO (FAHTeE) H o S @ 2

(1) YEhUSHA § LRI S E, el hEA |
RIS S & |

(2) IRV § SBRIOST T HTell hIfdTeRTST &
IehoRs Afahied H i # OAeE g
ek YhTE H Yh1Y] S § |

(3) YHSH H YHE T &, Tk oI |
IR1Y] S & |

(4) S A R G E, Sl YA H
YGRS H WIS hINERIT H I[Eh
Afcrehtat <t Tfgeht § W BT © |

TRt YT <t yureTel forgt 3o foRed St B 2
(1) Fa%ca=n Ud BEISeal
(2) HETTER TG TYhNh
(3) STeIcadT Td HEASHER

(4) TRl Ud IdEca=l

65.

66.

67.

68.

Hormones secreted by the placenta to maintain

pregnancy are

(1)  hCG, hPL, estrogens, relaxin, oxytocin
(2) hCG, hPL, progestogens, estrogens

(3) hCG, hPL, progestogens, prolactin

(4) hCG, progestogens, estrogens,
glucocorticoids

The contraceptive ‘SAHELT

(1) increases the concentration of estrogen and

prevents ovulation in females.
(2) 1isan IUD.

(3) Dblocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

(4) 1is a post-coital contraceptive.

The difference between spermiogenesis and

spermiation is

(1) In spermiogenesis spermatozoa are formed,
while in spermiation

spermatids are

formed.
(2) In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

(3) In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.
(4) In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are

released from sertoli cells into the cavity of

seminiferous tubules.

The amnion of mammalian embryo is derived
from

(1) endoderm and mesoderm

(2) mesoderm and trophoblast

(3) ectoderm and mesoderm

(4) ectoderm and endoderm
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69.

70.

71.

72.

73.

74.

Fr=fefiga et o & 3Iereen § ¥ 7e7d faseq
T =TI HINT :

(1) =TEs, AHd Ud Hidr &1 &ed

(2) <HCE, AT Ud <ial 1 Hieash

(3) TMd, TWCE Td =idl o 37U

(4) ATFIH, TTCE Ud HH hl G

Freafafaa § @ wi-an saufaen tn 757 2 2

(1) &8 Afereny

(2) USSR T

(3) =il

(4) fafefemm

frE T § HesX g NG MY % RO SAER
arfeft § fereprelt sy 39 BT 8 2

(1) UehRufeE

(2) Torad T

(3) Uferbfeufm

(4) mffafag

39 % T OH FARU W TEhH TS| UNh AT
foraeht gfg = o Bt 2 2

(1) faerfim A

(2) ToeIftd By,

(3) feafm D

(4) faafm E

Ik HILh b IWUE h! A FEAT H AW

foperehT g8 @ ?
(1) JeIsua

(2) AfET foewm
(3) HHSITddT

(4)  oTgepett fafert
Frafafea sfvaern & & S9-8 aqs7 4 Sfem Tt i
T Sl gd & 2
a.  gwrferdn

b.  HEIWIfQ

c. g A

d.  3Tqul ywTferar
e. agsﬂﬁersrrrrﬁr
(1) a,bQEic

(2) b,dTde

(3) b,cTde

(4) a,c@e

69.

70.

71.

72.

73.

74.

Among the following sets of examples for
divergent evolution, select the incorrect option :

(1) Heart of bat, man and cheetah

(2) Brain of bat, man and cheetah

(3) Forelimbs of man, bat and cheetah

(4) Eye of octopus, bat and man

Which of the following is not an autoimmune
disease ?

(1) Rheumatoid arthritis

(2) Alzheimer’s disease

(3) Psoriasis

(4) Vitiligo

In which disease does mosquito transmitted

pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Ascariasis

(2) Ringworm disease

(3) Elephantiasis

(4) Amoebiasis

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin A

(2) Vitamin By,

(3) Vitamin D

(4) Vitamin E

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Analogy

(2) Convergent evolution

(3) Homology

(4) Adaptive radiation

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c.  Multiple allele

d. Incomplete dominance

e.  Polygenic inheritance

(1) a,bandc

(2) b,dande
(8) b,cande

(4) a,cande
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75.

76.

71.

78.

79.

Frafafaa @ @ fafere fosm o vfosifes & 3cureT &
g wmfse i S TREAie Bhar sgan SEm
STt 8 2

(1) EEIeRIT

(2) LS

(3) wBWIfSTaT

(4) uAAfAsH

ey 18 &) 78 9e o1 wary 11 1 9e 8 e hifsg
IR = few MU fowewt @ @ @E? fawmew w1 =

HIT

ey [ Ty 11
a. gamwom i. UV-B fafero
b. afed defra i, S
c. Tourua (v saEeE) il Wk Tfg
d. 3uEd iv. Tufsme faem
a b c d
1 i iii iv ii
(2) i iv i ii
(3) ii i iii iv
4) i ii iv iii
frafafga & @ s ‘Serem g’ § 757 e 2
(1) ufes 3yaq
(2) dMEdfdh ITH
(3) IS THRI Th
(4) o9 d=®
T o h TG g5 SHEEl §

(1) SHFeW SAfse SR Safsedi & %7 8id 8 |

(2) THEH T TYd A F& H S B
g1

(3) SAYY AT S SAfseal & 1M 8d 2 |

(4) YE A Sew Safseai & %W 2d 8 |

“ien” ek I I WY o foRE 9T ¥ wTed BT R 2
(1) weFm

(2) TSIy
(3) Gl ¥
(4) ufw=i @

75.

76.

77.

78.

79.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Mutualism
(2) Parasitism
(3) Commensalism

(4) Amensalism

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
1 i iii iv ii
(2) iii iv i ii
3 i i iii iv
4) 1 ii iv iii

All of the following are included in ‘Ex-situ
conservation’ except

(1) Sacred groves

(2) Botanical gardens
(3) Wildlife safari parks
(4) Seed banks

In a growing population of a country,

(1) reproductive individuals are less than the
post-reproductive individuals.

(2) reproductive and pre-reproductive
individuals are equal in number.

(8) pre-reproductive individuals are more than
the reproductive individuals.

(4) pre-reproductive individuals are less than
the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Latex
(2) Roots
(3) Flowers
(4) Leaves

ALHCA/YY/Page 15

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



80.

81.

82.

83.

84.

T T HIF-HT U 1 I 7gT 8 2
(1) EEATHS S

(2) TR

(3) Ydicish

(4) AR

T Tl % Tk X URH § X-HehH IFE 7 | Ig [URH
fop SsTrTa & 2

(1) <had |

(2) had drar-aifet /Aot &

(3) <hawt ghmEI H

(4) i T g gl |

M & i & sgEr fowm i frfafy form yen
Bt & 2

(1) ¥ees™

(2) <iffeh gva T&Y qiEdd (Seorredt fafiear)
(3) WEERU IcaNaaH

(4) g IcarEd

T S & RIfET =9 HT1 8 AGGTATCGCAT 2 |

3G g IIRad mRNA 1 Hefod sh0 =1 8T 2
(1) UGGTUTCGCAT
(2) ACCUAUGCGAU
(3) AGGUAUCGCAU
(4) UCCAUAGCGUA

ey 1 8 &) 78 9e o1 &qw 11 1 we) 9 frer Shife
IR o feu MU fawmedwi § @ @E? fawew w1 W

80.

81.

82.

83.

84.

All of the following are part of an operon except
(1) structural genes

(2) an enhancer

(3) an operator

(4) a promoter

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by

(1) Only sons

(2)  Only grandchildren

(3)  Only daughters

(4) Both sons and daughters

According to Hugo de Vries, the mechanism of
evolution is

(1) Saltation
(2) Phenotypic variations
(3) Multiple step mutations

(4) Minor mutations

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) UGGTUTCGCAT
(2) ACCUAUGCGAU
(3) AGGUAUCGCAU
(4) UCCAUAGCGUA

Match the items given in Column I with those in
Column II and select the correct option given

below :
e Column I Column 11
&7y 1 &7ty 11 a. Proliferative Phase i. Breakdown of
a. TIUGHSH VARl i TWIRE HA:ER Hl foEed ﬁﬁ?ﬁ;ﬂemal
b. e e i, geehrr SR b.  Secretory Phase ii. Follicular Phase
c. RdEME iii. diafive yraen c.  Menstruation iii. Luteal Phase
a b c a b c
1 i iii il 1) i iii ii
(2) i iii i (2) i iii i
(3) iii ii i (3) it il i
(4) iii i il (4) iii i ii
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85.

86.

ey 1 1 € TS 9e o1 wqw 11 6 me) § fem iR
IR f= few MU fowmedi & @ @E? fasey w1 T

I -
Lary [

a. ’E’Bﬂﬁ'ﬂﬁm 1.

Ty I1
et | Ffeh I
HUE B

b. T ii. g 4 foreefcra @@l &
fiug
c. gFhE g iii. =1 H TgEehdT

iv. I3 | R H1 e

a b c d
1 i ii iii iv
(2) i iii i iv
(3) il ii iv i
4) iv i ii iii

ey 1 8 € 78 9e o1 &qwv 11 6 wa) 9 frer Shife
3t fiw few U fahedt @ ¥ &gt foaew &1 WA
i

TTFy [
(F7)

a. offoged Fered i
b. T 1 HGW ii.

Ty 11
(3cGS7 T BT HIT)

T T
TaTteft

c. TIAH AWHEA il TR
d. TF HT EUEU iv. Herdift shfvreht
v. EHuEY gafad dfete
a b c d
(1) iv i i iii
2 v iv i i1
(3) iv v ii iii
4) v iv i iii

85.

86.

Match the items given in Column I with those in

Column II and select the correct option given

below :

Column I
a.  Glycosuria 1.
b. Gout ii.
c. Renal calculi  iii.
d. Glomerular iv.

nephritis

a b c
1 i ii iii
(2) i iii i
(3) il il iv
(4) iv i i

Column II

Accumulation of uric
acid in joints

Mass of crystallised
salts within the kidney

Inflammation in
glomeruli

Presence of glucose in
urine

d
iv
iv
i

iii

Match the items given in Column I with those in

Column IT and select the correct option given

below :

Column I

(Function)

a. Ultrafiltration

b. Concentration
of urine

c.  Transport of
urine

d. Storage of urine

a b c
(1) iv i ii
(2) v iv i
3) iv v ii

4) v iv i

Column II

(Part of Excretory
System,)

i. Henle’s loop

ii. Ureter

iii. Urinary bladder

iv. Malpighian
corpuscle

v. Proximal
convoluted tubule

iii
ii
iii

iii
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87.

88.

89.

90.

fafafgd § 9 saaRe yau7 faer 1 3| w=
72

(1) Tt
(2) digfasw
(3) uifEm

(4) araehifa

eI U T H hicwd @l § Hilh I8
(1) wHEIE WHUs § et 39 HRamia i 2 |
(2) Ufeea o & Arfes i ol ST et 2an @ |

(3) T ¥ et Ufded & |fsha T  3TmeR
I BT <1 & A & fow |

(4) WA %E ¥ R Ufded a9 % wed ey
famfor =61 Trebert 2

Ffaigd § 8 -8 Jet HIRERN ATFH § §

THATY]-3edfel o HEg Hdl 8 ?
(1)  ToISHT HIFRTRIT

(2) HAY (Tecie) IR
(3) &I IR

(4) T shifymenrd

ey 18 & 7S Hel o w11 9el § faam il
IR fra few MU fomewi 0§ @E? famew w1 WA

I

=y 1 &=y Il

a. tFIEﬁ'—ﬁGFI i quEueft F@Fﬂ

b. A ii. T Yerehl

c. W‘T iii. wire fsrafaty
a b c

1 i ii iii

(2) i iii ii

(3) iii ii i

(4) ii iii i

87.

88.

89.

90.

Which
respiratory disorder ?
(1) Silicosis

(2) Botulism

(3) Anthracis

of the following is an occupational

(4) Emphysema

Calcium is important in skeletal muscle

contraction because it

(1) activates the myosin ATPase by binding to
it.

(2) detaches the myosin head from the actin
filament.

(3) binds to troponin to remove the masking of
active sites on actin for myosin.

(4) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Mucous cells

(2)  Goblet cells

(3) Chief cells

(4) Parietal cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I1

a. Fibrinogen i Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

1 i ii iii

2) i iii ii

(3) iii ii i

4) i iii i
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91.

92.

93.

aﬁéézﬁaﬁﬁﬁsssrﬁﬁa‘r’mé,évﬁwﬁwﬁa, ‘n’
HdEH Tl (B n UiEdi 8) S R | 9 &
et 1 gueE sk g 1 A R | fe
HIF-G1 U1 [ 37 n o = & Tee hl g B ?

I

@8] T i
0) —n
I

(2) Tf
(@) —n
I—

@ !
(@) —>n
I

4) T i
(@) —>n

(47 + 4-7) kQ ¥fetieg & fopeft preiq-uferiess W, Tgam
% fore, fafim ot < e siferd b I 2 | vl i
1 T BT

(1) der — st — et — =i o

(2) W -7 - S - g

(3) St — e — AR — =T o1

(4) B0 —TRA — S — g

‘0’ FIuH YfRigehi o TH=, FEH T o gy
‘R B, 9oftsem O faansad (emf), ‘E W =i
gfig, R 1 e de & G @ | e & ot 8
g I § | 319 39 ‘n’ JfaUeehi 1 Ud hA § 3H Sl
FgEa frn S | St oA T awm 10 I &
It B | ‘n’ BT AN B

1 11
(2 20
3) 10
4) 9

91.

92.

93.

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and

each) which are connected in series.

the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I
(D T i
o) —n
I
@ Ti
(@) —n
I—
@ !
O —>n
I
@ !
(@) —n

A carbon resistor of (47 + 4-7) kQ is to be marked
with of different
identification. The colour code sequence will be

rings colours for its

(1) Yellow — Violet — Orange — Silver
(2) Yellow — Green — Violet — Gold

(3) Violet — Yellow — Orange — Silver
(4) Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1 11

(2) 20
(3 10
4) 9
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94.

95.

96.

97.

#E Fre g w1 PRt mem A A V = Vi @
T W g | e aw 39 fagg-grasde air @
foga-a= QoM +y W b W B | d9 W

forga-grashia Tl o FEeehid & g ohi fewm Bl
(1) +zfqm
(2) —yfeum
(3) —zfaum
4) —xfom

fortt Tt W 60 mA T UWT JaTRd HH W 3H Weh |
T gresh feufast St %1 9 25 md B | 39 I
T YTehed &

(1) 13888 H
(2) 1389 H
(3) 0138H
(4) 1389 H

feret firem o wered o1 SdedTR V2 S fsH w1
30° 2 | fr5w & @ omad® 7ol H H wh &l Al
=erRt Hid I 3T IO S9= T 2§ | g o |
TIY W A ThaUTT T HT HiE G (00T ATl 7S
T WEfdd g+ & IvEr) 3§ 9 W G ol S,
Ife fsw W 3 o1 1 TH 7

(1) 45°

(2) 30°

(3) 60°

(4) IA

Hig o7 15 cm BIHH g % fohell s/@aa gdur &
40cm@mﬁ%%|aﬁwﬁwﬁaﬁwa%ﬁmﬁ
20 cm TIAFARG X fean S, @ giafes feadt gl
X fereenfya &1 ST ?
(1) 36 cm U & F
(2) 30 cm TUUT & TH
3) 3Ocm?ﬁ'UT@E;{
(4) 36 cm TYU % I

94.

95.

96.

97.

An em wave is propagating in a medium with a
velocity ;)7 = V/i\. The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) + z direction

(2) -y direction

(3) - zdirection

(4) —xdirection

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 13888 H
(2) 1-389H
(3) 0138H
(4) 13-89H

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 45°
(2) 30°
(3) 60°
(4) zero

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be

(1) 36 cm away from the mirror

(2) 30 cm towards the mirror

(3) 30 cm away from the mirror

(4) 36 cm towards the mirror
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98.

99.

100.

101.

AR AV = Vo1 (Vy > 0) 3R ZEE m
w1 W W B BEReT B - - By |
(B = T > 0) H t = 0 T Yoz a1 2 | Al Jew
# 30 goidgH hI ISl almeed 4y B, @ §WE ¢ W
Tah! 2-sitedt coreed Bt

eEO
1) Ayl
1) 0 ( + mVO tJ
@ Aot
(3) 7‘—0
1+ eEo t
mVO
@) A

S forel a1 o Y56 W AEN 2v, (J/T v, cgal
IR 8) 1 TR AT HLAT @, qT I Serag il
1 AHIH o7 vy & | S Imfad ot 1 s
TR 5y, L & I 7, d IH T8 H IA@NId
SAFCHI h1 SAfhaH o vy BT § | vy I vy A

I B
(1) 1:4
(2 4:1
3 1:2
4 2:1

BIgSioM TATY] i fopelt s whenm # fonet g <Al
TTferst it I IEhT T il bl AT Bl B

1 1:-1
2 2:-1
3 1:1
4) 1:-2

forelt eanferea werel <1 ardf-amg 10 fire & | =fe
AR § TIRT T T 600 7, o1 450 TR &
foafea e o o aren T (e o) 2

(1) 10
(2) 30
3) 20
(4) 15

98.

99.

100.

101.

An electron of mass m with an initial velocity
;; =V, /1\ (Vo > 0) enters an electric field
}_E> =— Eoli\ (Ep = constant > 0) at t = 0. If A is
then

its de-Broglie wavelength initially, its

de-Broglie wavelength at time t is

eE 0 t
mVO

D A (1+

@ At

Ao

1+ eEo t
rnVO

Ao

3

4)

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v), the maximum
velocity of electrons emitted from the same plate
is vy. The ratio of v; to vy is

(1 1:4
(2 4:1
3 1:2
4 2:1

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

1 1:-1

2 2:-1

3 1:1

4) 1:-2

For a radioactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1) 10
(2) 30
3 20
(4) 15
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102. A W A g % foRE AW I8 W OHE

Agfad TH™ I  oTdad war & | e o
AU B ¢ W T8 YT T foh qEfad Rl 3
sqafia fRu Th-gEt % aFed § | FefaRed | @
Hi-a1 foeed 3g feuafa 0 @& 8 2

wWafdd ThE gfad @ o sHem faga afew

JATYGH o et o ATead 8

i=sin1 (lJ
u

wafdd Y gfad @ o soe fagq wfew

YA % d & GH=R &

i=tan™! (lJ
u

(D

(2)

3

4)

103. = & fgferdt womn #, fofei & = goeha d, 2 mm 2

qur f3rll & 9¢ 1 gf D %l 100 cm W@d §Y qUIGEH
A = 5896 A & JehISI T IUAN foRam TR B | ¥ AR
T T et <t shivfig =ets 0-20° 8 | 99 (ST A 3R
D % forw) fibsTi Y Hivfia <t =l sge 0-21° w
% fore fafat & i & e 61 e &

(D

1-9 mm
(2) 2:-1mm
1-8 mm

3

1:7 mm

(4)

104. Torelt el STvadi qaeiss 1 vy sTae sifas

3 oy farsie 3= gim, afe saeh stfirgyees o i
HroRE gl aTfe 3R =T BieT @

B g 31T T = ST 3

BT g A IR T §9T 7

BT G HH IR T BT 2

(1)
(2)
3
(4)

102.

103.

104.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are

Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric

vector perpendicular to the plane of

incidence

. . _1(1J
i=sin | =
u

Reflected light is polarised with its electric

(2)

6))

vector parallel to the plane of incidence
i=tan (lJ
u

In Young’s double slit experiment the separation

4)

d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to
(1)
(2)
3)
4)

1-9 mm
2:1 mm
1:8 mm

1:7 mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1)
(2)
(3)
(4)

large focal length and small diameter
large focal length and large diameter
small focal length and large diameter

small focal length and small diameter

ALHCA/YY/Page 22

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



105.

106.

107.

108.

20 mH &1 $I5 Ih, 100 pF &1 i3 UM TG 50 Q
%1 hIg Ufegeh, f9.97. 9 (emf), V = 10 sin 314 t
=+ forelt @a & oofi & waifsa & | 39 uiwy § wifed
T B
@)
(2)
3)
4)

043 W
274 W
0-79 W
1-113W

0-5 kg m™! ¥fd 3h1E Trams geome i fopeft g <t
&fasl o8 * T e 3Hd 9 WS &faw @ 30°
%1 IV T 7, W@ T R | 39 B Dl EH I
€T YaTfed hiehl e TLeh 8l (a1 ST 91 36 W
0-25 T ST %1 Frachid &7 Heater foem § el = @
2 | D8 I for W & fou s yerfga a2

(1) 598A

(2) 1476 A

(3) T14A

(4) 11-32A

foreht =1 poeelt e 1 g ganfear 5 div/mA
R Aiced! GUTiedl (SF 33 alced 8 Icad Hiv
fag) 20 div/V 2 | 38 freamrdiet 1 gfadig B

(1) 25Q

(2) 250Q

(3) 40Q

(4) 500 Q

forelt forea-gress & ot & i gfagreshm gerd i
TS Udcl B HeAtr foud 7 | 99 foga-gras § g
TETEd 1 S 8, A 98 B &fds Jrah & | A
S H S ghe & A B | TH THR T I Teed1
feufes oot uea Wt R | TH R % fow StmavEe
S AT 7

(1) grahr &

(2) BT % Ued HI ATtk BLET

(3) forgd @
(4) I fo@-a < & ufiedt ghim &9 @ 3=
BT @

105.

106.

107.

108.

An inductor 20 mH, a capacitor 100 puF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is
(1) 043W
(2) 274 W
3) 079W
4) 1183W

A metallic rod of mass

0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with

per unit length

the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 598A

(2) 1476 A

3) 7T14A

(4 11-32A

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 25Q

(2) 250Q

3 40Q

(4) 500Q

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
potential The work

gravitational energy.

required to do this comes from
(D)
(2)

the magnetic field

the lattice structure of the material of the
rod

the current source

the induced electric field due to the
changing magnetic field

3
(4)
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109.

110.

111.

112,

Toret wafer fguar w1 3w foreft Tt i i Aot &
IS 39 H o forw fopam a7, w9y waew
I TS I Uiad! e grT aHTEifeTa foRam ST deha
21 27°C &y 9 W Ty I T=E 20 cm AW
73 cm B W g HUFTA TG 399 B 8 | Al waf
g &1 IERT 320 Hz 7, @1 g § & & 27°C W
an g
(1

(2)

339 m/s
350 m/s
(3) 330m/s
(4) 300 m/s

i3 golael formmaen @ fhet whem™ qum SR H
Seate fgq-49 E § ®5 § T8 g, h, a1 2 | s @
foga-am &1 o swufEfda wd gu sweht fom
Iohiid L & St B | feRet e Wi formTeRen @
31 & Fealer gt h 9% 8 e o Sran @ | Wed
% i ¥ fofw e wme < go | soiae g fRd |
ot v R

(1) 57 3Tt

(2) 10 TAT Afoeh

(3) =H

(4) "EE

HIE Wleteh Teh HIhl Ho 9o 1 od § oeehl & HN
W MEd aleish hi Aifd gad 9 9 WA i
w e | e feufd & 5 m g W He Mo H
TR 20 m/s? ® | I ST SATEAhIA &

(1)
(2

TS
2s
3) 2ms
4) 1s

Ay Q * Tt fogea ww ufgem gurfa ¢ #
SIh A ITeft 9T1q <l Ufgepredt & = fer-aga s

(1) dfgwiet & = 6 gt & Washa: sTgspuTIIT
B & |

109.

110.

111.

112,

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 339 m/s
(2) 350 m/s
(3) 330 m/s
(4) 300 m/s
An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of

fall of the electron, in comparison to the time of
fall of the proton is

(D
(2)
3
4)

5 times greater

10 times greater

smaller

equal

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is

20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

(D
(2)
6))
(4)

TS
2s
2 s
1s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) linearly proportional to the distance

between the plates.

(2)

proportional to the square root of the

@) vl % = 6 @ 3 W ¥ W distance between the plates.
(3) independent of the distance between the
a1 2 |
. . lates.
(3) ufgehati & o= i gt W et & e | @ Paesl conal o the dist
. inversely proportional to e distance
(4) g1 o Sl bl @ * I CHHTIAT T 2 | between the plates.
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113.

114.

115.

116.

forelt ThTRHTU A| % IAH (V) § A9 (T) & e
o=t % § S STgER BN @ | ofE e A #
STIET B dh WM hl Tisham 0 1 g fopu T Rt 3R

35 R NG ST T I 8

AV

B
A
O —> T

2
(D 3

1
(2) 3

2
(3) 5

2
4) 7
A & AT 3T FG9HTH & oI hREd fREl aArest
ST S h! 2&TdT Bidl 3
(1) 20%
(2) 6-25%
3) 26'8%
4) 12:5%

TFE M9 T AR ST H T W A (rms)
A gl % IYATSH ¥ TARH H TR h foIT A
e Bl St ?

(feem w2 -

SIS o 3T T WM (m) = 2:76 x 1026 kg
SiegsH e ky = 1-38 x 10723 J K1)

(1)
(2)

8360 x 10* K

5016 x 10* K

(3) 2508x10*K

(4) 1254x10*K

foret gor AT ursw iy srgfa fRet a5 AT
UTEY W g OmEa (ST S Aghd % wEE 7
Ifg Fg AT Uy I A=TE 20 cm B, A G A
9139 <hl TFTS B

(D
(2)
3)
(4)

8 cm
12-5 cm
13-2 cm
16 cm

113.

114.

115.

116.

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

éT

(D

(2)

6))

4)

SN0 O N Wi w N

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1 20%

(2) 6:25%

(3) 268%

4) 125%

At what temperature will the rms speed of

oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :

Mass of oxygen molecule (m) = 2-76 x 10726 kg
Boltzmann’s constant kg = 1:38 x 1028 JK™h

(D
(2)
3
(4)

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(D)
(2)
3
4)

8-360 x 10* K
5016 x 10* K
2-508 x 10* K
1254 x 10* K

8 cm
125 cm
13:2 cm
16 cm
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117. 2 9% @A Je1d & &4 8 3R i o AT ) guE

2 | 78 AR I STIRY-HE F &TFA A IR W AR
H1 ITIAFIE HT FABA 3A 2 | I IA F AR
UE AR ! TS H Al Sl ghg hT I @, 9 gE dR
# T 7 oft saft @ 3fg FE F T R w9 R
STITIHAT AT ?

(1) 6F
(2) 4F
3 9F
4 F

118. @I @ (1-013 x 10° Nm™2) 3R 100°C d9 T

0-1 g I % T ®I 100°C hT 919 H gREfdd w1 &
fou 54 Sah S S0 I IR B B | gl
39H WY H AW 167-1 cc 7, 9 39 I H
s STl § qRadd 3

(1) 2087J

(2) 42:2J

(3) 104-3J

(4) 84'5d

119. et o g faferfa wifem P 2 don o' adreeA,

A W Afrman ot fafefa wdft 7 | @ Afg =
SHiTehT 1 AW qRafda e S &, foed o 78

%xoa@ﬁsémafwmfﬁr&mm%,a
3o g faferftd wifed nP &1 St 8 | n 1 AH g

1 -
(2)

@3 -

81

(4) 256

120. 3= 0 1 I3 oY e fomreaeen & fret & ga §

fikar 8 | o9 91 % HRU A FSAT 39T BT B |
M & Afm (efiFd) a1 W Iad =1 Hl K

frerferfiad & & frep sTgsheTIId 3t 2 2
1 12
@ 1
3 1
@ 1t

117.

118.

119.

120.

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 6F
(2) 4F
(3 9F
4 F

A sample of 0-1 g of water at 100°C and normal
pressure (1-:013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 2087J

(2) 42-24J

(3) 104-3J

(4) 845J

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ag, the power radiated by it
becomes nP. The value of n is

1 2

(2)

@) -

81

4) ==
@ 256

A small sphere of radius ‘r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1) 2
(2)
3)

5

r
I‘3
4 r*
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121. o= § few 7w 71ei & w@ieE | frfq Y o1 f9si A 3fit|121. In the combination of the following gates the

B % el § 30 YN SAed TohaT ST TehaT 2 output Y can be written in terms of inputs A and
B as
Ae

Be Iﬁ > Y ‘Q:
>

> ¥
>

() A.B+A.B —
(1) A.B+A.B
(2) A.B+A.B -
(2) A.B+A.B
3 A.B -
3 A.B
4) A+B
4) A+B
122. fu U ufmy sm@ H, Few dee (V) 20V,|122, In the circuit shown in the figure, the input
Vpg=0da Ve =08 | I, I 3R B AH Bl voltage V; is 20 V, Vg = 0 and Vp = 0. The
20V values of I, I and P are given by

20V

(1) Ig=25pA, Io=5mA, f=200
(1) Ig=25pA, Ig=5mA, B =200
(2) Ig=20pA, Io=5mA, f=250
(2) Ig=20pA, Ig=5mA, B =250
(3) Ig=40uA, Ig=10mA, =250
(3) Ig=40pA, Ig=10mA, B =250
4) Ig=40pA, Io=5mA, f=125
(4) Ig=40pA, Io=5mA, B=125

123. foreht p-n Gy gre & 7 g9 @ a9 ° ufteda 123. In a p-n junction diode, change in temperature
(1) e 31 iRy i J9Ifd i 2 | due to heating
(2) p-nTRT F TRRY H Tl T BT R | (1) affects only forward resistance

(2) does not affect resistance of p-n junction

(3) ac ( ) 9 2l (38) affects only reverse resistance
(4) P'HH&T o WY V — T ATAE0r shl SuTferd e (4) affects the overall V — I characteristics of

2| p-n junction
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124.

125.

126.

127.

T & Ir IR g wen ¥ wfone ww A fRufai
A, B 3R C W s HArd AW K, K 3 K 7 |
AC & 317 2 7o 9 i feufa S W SB femmgem &

AT ACH A 3 | 99

(D
(2)
3
4)

Kj > Kg > K¢
Kg <Ky <K
Ky <Kg <K
Kg > K,y > K

T 39 Tl dled (A § 7 | WAled Tfd H a%q
TYHTAE TS ot (K,) o @re-gne goff Tfas e
(K,) ft 8t 3 | Tt & T K, - (K, + K,) T 319
=l
(1)
(2)
3)
(4)

ﬁ@wm%w@ramqm‘ﬁmw&w
oo afmmT # 10 T 71, @ FefaRad 8 @ wE-a
T 7T 7?7

(1) ol W = 31fesk e &1 Smam |

(2) YA W WA AT 1 STEAHIA HH 8 S |
(3) aut i oS axedt W srfees el | fht |

(4) geeft W g’ % AW H qitEdA & B |

IS 3 TIAT Yok AT § 3191 Tufufa 3187 o ufa:
od 9 § YO R T 2 | 39 M I GEEH THE
T@d gu smh B # gfg fi 9t & 1 Ma & fo
ffoafaa § & s oifaes ofy fer @ 2

(1) e Al

(2) ooff wfas Het

(3) it A

(4) o g

5:7
10:7
7:10
2:5

124.

125.

126.

127.

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(D
(2)
3
4)

Ky > Kg > K¢
Kg <Kj < K¢
Ky <Kp < K¢
Kg > K, > K

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K; : (K; + K,) for
the sphere is

1) 5:7

(2) 10:7

3 7:10

4 2:5

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1)

Walking on the ground would become more
difficult.

Time period of a simple pendulum on the
Earth would decrease.

(2)

3
(4)

Raindrops will fall faster.

‘g’ on the Earth will not change.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.

Which of the following physical quantities would
remain constant for the sphere ?

(D
(2)
3
(4)

Moment of inertia
Rotational kinetic energy
Angular velocity

Angular momentum
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128.

129.

130.

famg (2, 0, — 8) W HRE @ F=4)+5} -6k =
o5 (2, — 2, — 2) % i@ AT grm

1) -47-5 -8k

@ -171-8j -4k

3) -8i -4 -7k

4 -71 -4 -8k
ﬁé%ﬁiwﬁammq%ﬁﬁ@w
fogd-e9 E %qmﬁwmwﬁﬁiw
WA B | T UhUS o AU B §A q E
FHU FHHT ST 0 ¥ 6 m/s B @1 7 | S &
faggq-8m i fosn Sopfig o & 9t B | 3@ o8
e § R 3N G HehUS Tk A il WA R | 0 W
3 Fhvg & o Rl ®R % fwa o i sfwa
o1 SHA: &

(1) 1m/s, 3m/s

(2) 1m/s, 3-5m/s

(3) 2m/s, 4m/s

(4) 1-56m/s, 3m/s

AHd U 0 & fHH ot a3 ABC W m
SEIHT 1 IS screh AR i 8 | 39 o I grft
IR I o ‘@’ fean Jar B | saih @l 9w W fER
T & foT a 3t 0 % e gay gm

g
1 =
D a=2

(2)

3) a=_°2
cosec 0

a=gcosH0

(4) a=gtan0

131. foreh B 3 s0uTd <t &g Tig & =A™ I W19 0001 cm

JeqaHT® I B W gRT | H&A 9 H A
5 mm 3R IAE M H I T Tad | 25 WA
SW 2 | A T A9 H I I - 0:004 cm B, A e
1 Hel A B
(1) 0525 cm
(2) 0053 cm
(3) 0-521cm
(4) 0529 cm

128.

129.

130.

131.

- A A A
The moment of the force, F =4i + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -4i -] -8k
A A A
@ -17i-8j -4k
A A A
(3 -8i-4j -7k
A A A
4 -17i-4j -8k

A toy car with charge q moves on a frictionless
horizontal plane surfac_e) under the influence o£)a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are
respectively

(1) 1m/s, 3m/s

(2) 1m/s, 3-5m/s

(3) 2m/s, 4m/s

(4) 1-5m/s, 3m/s

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6

for the block to remain stationary on the wedge
is

A
&

C B

g
1 a=
W sin 0

(2)
3

a=gcos0
g
cosec 0

a=

(4) a=gtan6

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0525 cm

(2) 0053 cm

(3) 0521 cm

(4) 0529 cm
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132.

133.

134.

= fvg, A : (T 39 @), B : (TH dac JAmRhR
Thdl) dA C : (T AR Bgl), T g &
ZeqaHE M den BT R 2, 99 iU o o 8 {9
Tufyfa 31e7 o 9id: =hoT 9 @ B | 35 (aummeeen
M & e fhr S 9l stevEs At (W) & foe
HH-I1 TEY TE 7 ?

(1) Wp>Wg>Wg

(2) Wp>W,>Wgq

3) We>Wg>W,

(4) WA>WC>WB

TS m 1 Teh Tiasfiel Teehl, 4m geau & fereht
Tat TR Tesh © Wog w1 8 | HHE o UET, Boehl
el form sraEe # o1 S 7 | AR gk ek H
SRR o7 v 7, I T O () T HH AT
(L 025

(2) 08

3) 05

4) 04

@ # g9l IFER =t h & adoRfzd vy % sfew
form 3T & T ITeT i fUvg, M AB = D &
FeafeR g i -3k U AT & | 79 ST h Feft

B

[ O

A

(1) D
(2)

3

(4)

135. f=fafiga & @ =9-91 %o F@eT 2 2

fqer g¥u 1 dimma q= Ao gfafsean &

FHETAT BTl B |
oYU S AT i 1 faly e @ |

wrefies = adf ofor & 9 gar @ |
off efor Tqurrek i femTd TEeTE T fomn % wHE
Bt |

(1)

(2)
3
(4)

132.

133.

134.

135.

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed ®w about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wr>Wg>Wg,
(2) Wg>W,>Wg,
3) Wg>Wg>W,
(4) Wr>Wi>Wp

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be
(1) 025

(2) 08

3 05

(4) 04

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
o
l A
1) D
@) %D
3) gD
@ 2D

Which one of the following statements is
incorrect ?
(@)

Limiting value of static friction is directly
proportional to normal reaction.

(2)
3

Frictional force opposes the relative motion.
Rolling friction is smaller than sliding
friction.

Coefficient of sliding
dimensions of length.

friction  has

4)
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136.

137.

138.

139.

o Hife wd fgdtm e srfirfshanett # vt fafter 2
(1) 5| =ife =1 ik i ared-a1mg [A]) W e
Tel &; fgdta whife ot srfufsen 1 sred-amy (Al
w it 2

SO hife shl FATHIHAT 1 IR foham ST wehall

¥, fodta spife Y srfufsren =1 sefa ==& fomam
Hehdl B

gom Hife i srfufkar &1 an IfERs
Frgarstt W flt T e 7 fgdm e i
Al o1 a1 SAfierRes i Frgarett W At
AT 8

g Hife H Ak w1 A AfErs H
Tzttt W R e g; fodfia ife 6 sifwfsren
1 AT ey i Fgareti | Tl s
g

CaH,, BeH,, BaH, § 3T Jehid T U 3

(1) CaH, < BeH, <BaH,

(2) BeH, < BaH, < CaH,

(3) BeH, < CaH, <BaH,

(4) BaHl, <BeH, < CaH,

fopa fearfa & STat 3 arupedt it T stfrshar 2 2

(1) 018 g9 & faQ

(2) 1atmTd 273 KW 0-00224 L 3d a9 & fo1g
(3) 18 mL et & forw

(4) 10739 I & for

= fou U o H, S I offeie stgwen §
giad fafir fo.a1. s (emf) T W esmien TR

- 182V - 15V
BrOy, — BrO3 ——> HBrO

(2)

3

(4)

Br <T0es2v B2 “Thesv
B T R e
() BrO;
(2) Br,
(3) BrO;
(4) HBrO

136.

137.

138.

139.

The correct difference between first- and

second-order reactions is that

(D

the half-life of a first-order reaction does not
depend on [A]l); the halflife of a

second-order reaction does depend on [A]

(2)

a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

3

the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

(4)

Among CaH,, BeH,, BaH,, the order of ionic
character is
(1) CaH, < BeH, < BaH,

(2) BeH, < BaHl, < CaH,
(3) BeH, < CaH, < BaH,
(4) BaH,; < BeH, < CaH,

In which case is the number of molecules of water
maximum ?

(D
(2)

0-18 g of water

0-00224 L of water vapours at 1 atm and

273 K
18 mL of water

3
4)

102 mol of water

Consider the change in oxidation state of

Bromine corresponding to different emf values as
shown in the diagram below :

- 182V - 15V
BrOy — BrO3 —— HBrO

Br~

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

(D)
(2)
3
4)

BrO;
Br,

BrO;
HBrO
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140.

141.

142,

143.

144.

145.

CIF; &l &A1 H Hgd T ‘ClP W THIER IH
SAagHI ! HETT B

L

(2) =X

3) TH

(4) =

Nl H ehl STTRTol STeedTaT 1 wedl g3l
Tl A @

(1) HNO,, NO, NH,CI, N,

(2) HNO,, NH,CI, NO, N,

(3) HNO,, NO, Ny, NH,CI

(4) NH,CI, Ny, NO, HNO,

frafafegas @ @ sF-a o= MFS’ AT T A
Y 7 ?

(1) Al

(2) B

3 Ga

4) In

frafafad & @ 7 13 & o=l § wTfoges Breamstt @
S| Y HE B ?

1) B<Al<Ga<In<Tl

(2) B<Ga<Al<Tl<In

3) B<Al<In<Ga<Tl

(4) B<Ga<Al<In<Tl

e 3@ H WIH H T@d g¢ Mefaied § &
HH-H GTg HT I VAT b u=IA § foRAm =
GehdT B 2

(1) Zn

(2) Mg

(3) Fe

4) Cu

g & fou Fafafea 8 @ -3 s a9 787
3?
@)
(2)

auft srferedieren Stfirentes & |

YA & orcEr @ft  gATeHe  3tierdie
JTaETd g @ |

Tyt Tt T 3T} 3T o9 & |

FARH 61 Falfess seiaeH Teu wded 2 |

3
(4)

140.

141.

142.

143.

144.

145.

In the structure of C1Fg, the number of lone pairs
of electrons on central atom ‘CI’ is

(1)
(2)
3)
4)

The correct order of N-compounds
decreasing order of oxidation states is

(1) HNO,, NO, NH,CI, N,
(2) HNO,, NH,CI, NO, N,
(3) HNO,, NO, N,, NH,CI
(4) NH,CI, Ny, NO, HNO,

two
four
one
three

in its

Which one of the following elements is unable to
form 1\/[F§ “ion ?

(1) Al

2 B

3) Ga

4) In

The correct order of atomic radii in group 13
elements is

(1) B<Al<Ga<In<Tl

(2) B<Ga<Al<Tl<In

3) B<Al<In<Ga<Tl

(4) B<Ga<Al<In<Tl

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?
(1) Zn

(2) Mg

(3) Fe

4) Cu

Which of the following statements is not true for
halogens ?

(D
(2)

All are oxidizing agents.

All but fluorine show positive oxidation
states.

3
(4)

All form monobasic oxyacids.

Chlorine has the
enthalpy.

highest electron-gain
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146.

147.

148.

149.

150.

foeieh wg steran STershA Sgarhi % Hew # frfafaa §

T HH-A1 B HAAT 2 ?

(1) 3 fgfrarens wa fifsrarens ogl & wewhcrhl @

& 8 |

SohelTge Ud BeTfia 36 3eTe & |

T faftm W sgas gEest % W

TgHAISTh A BId 8 |

$Th! TECIh TEIS § VoA HeHdSeh ey

B 2 |

Ufiele T uftrerfee # fafirerd @

(1) WA H 154 o7 A1 > 6 p-aeH B

(2) UEEfFA § 1 > 4 oSG A1 > 6 pAEH 2

(3) UANfFA T 1 > 4 qFTF AA 1 —> 6 o-F
g

(4) Uil o TE dE & S R

el 1 AR Yad el wieaw W O W
m-TTEINefA oft ST 8 sifes

(1) soeg-Edl gfeeamam srfifran o iAo
m-FreeeR 7 |

yfeeemsh Al rufedfd # A wgE AW
m-fefa o Smar 7

gfcreamaes <1 Iufeufd o Srece A1gel THE B
hadd m-feafa @ & Smar 7 |

A (vered) wrem H el ufefifem smem
FETH B R

Frafafga & @ wH-@ ileus it waifus <l
T B ?

(1) BeO

(2) BaO

(3) MgO

(4) CaO

2:3 g Wil A qAT 4-5 g STFTTeh TFA hl TG
H,S0, & fran am W Icafsla e s vt KOH
% BI ghel ¥ TAN S 8 | STP W &+ gY I9]
1 9N (g ®) g

1) 30

(2) 28

3) 14

4) 44

(2)
3

4)

(2)

3

(4)

146.

147.

148.

149.

150.

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(1)

They are formed from bi- and tri-functional
monomers.

(2)
3

Examples are bakelite and melamine.

They contain covalent bonds
various linear polymer chains.

between

(4)

They contain strong covalent bonds in their
polymer chains.

The difference between amylose and amylopectin
is

(1) Amylose have 1—54 o-linkage and
1 — 6 B-linkage

(2) Amylopectin have 1 — 4 a-linkage and
1 — 6 p-linkage

(3) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(4) Amylose is made up of glucose and

galactose

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1) In electrophilic substitution reactions

amino group is meta directive.

(2)

In absence of substituents nitro group
always goes to m-position.

3

In spite of substituents nitro group always
goes to only m-position.

4)

In acidic (strong) medium aniline is present
as anilinium ion.

Which of the following oxides is most acidic in
nature ?

(1) BeO

(2) BaO

3) MgO

(4) CaO

A mixture of 2:3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1 30

2 28

3 14

(4) 44
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151.

152.

153.

154.

Hqifieh A it Na & Affshan e ® 9 B a1 2 ao
PCly % |1 STTTHIT W Wag C a1 & | B W C
g S my T R e W SRS 3 U
BaT2 | A, BANMCHA T

(1) C,H5OH, C,H,Cl, C,H;ONa

(2)  C,H,Cl, C,Hg, CoH,0H
(3) C,HsOH, CyHy, CoHCl

(4) C,H5OH, C,H;ONa, CoHCl

BIEgIhEA (A) S & yfaead= grr 3Tfrfshan otk

s Ufcha smse <@t ' S TR gdw rfufeen gr
ety gregieeq | ufafda grar & fomd fob = @ &n
e TH B | (A) R

(2)

3
4)

CH, - CH,

CH=CH

CH,

arprieet § S v T e @ Fiffa e
T HH-HT ATFTES TTET TG 757 8 2

(D
(2)
(3)
4)

NO,
N,O
N,Oj
NO

s AR C,Hg Ffafaa sfufsranet & Tomar 2 -

3 Clz/A Br2/Fe Zn / HC1
A B

C

ST

151.

152.

153.

154.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,H5OH, C,H,Cl, C,H;ONa

(2) CyHyCl, CoHg, CoH;OH
(3) CyH5OH, CoHg, CoHCl
Hydrocarbon (A) reacts with bromine by

substitution to form an alkyl bromide which by
Wurtz to
hydrocarbon containing less than four carbon

reaction is converted gaseous

atoms. (A) is
(1) CHy=CH,
(2) CHs;-CHjg
(3 CH=CH

(4) CH,

Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NO,
(2)
(3)
4)

N,0
NyO5
NO

The compound C;Hg undergoes the following

reactions :

3 Clz/A Brz/Fe Zn / HC1
A B

7Hg
The product ‘C’ is

(D
(2)
3
4)

o-bromotoluene
3-bromo-2,4,6-trichlorotoluene
m-bromotoluene

p-bromotoluene
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155. ffafaa & @ forg oo o ad @ Q¢ o wEmET §

sp?, sp?, sp, sp HeHIIT ST ST & ?
(1) CH,=CH-C=CH
(2) CH,=CH-CH=CH,
(3) HC=C-C=CH
4)

Fefafga & @ ®F-w SEvARA gaiftes L
afera & 2

NO,

Y H
NO,
Y ©
NO,
Y H

CH; - CH = CH - CHj

156.

(D
(2)

(3)

NO,

157. frafafea & @ wfaeamoesi & -1 ywe & d@ed o
HH-81 78 & ? (R = Ufeshar)
(1) -NRy<-OR<-F
(2)
(3)
(4) -NRy>-OR>-F

s

(4)

<

-NHy>-OR>-F
-NHy <-OR<-F

155. Which of the following molecules represents the
order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(D
(2)
3
(4)

CHy=CH-C=CH
CHy=CH - CH = CH,
HC=C-C=CH
CH3;-CH =CH - CH;

156. Which of the following carbocations is expected to

be most stable ?

NO,
Y H
NO,
v/ @
NO,
Y H
NO,

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NRy<-OR<-F
(2)
(3)
4)

s

(D
(2)
3
4)

=<

157.

-NHy>-OR>-F
—-NHy <-OR<-F
—NRy>-OR>-F
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158. 3@ 37fHfsean

159.

OH O Na*

@ + CHClg + NaOH ———> @ CHO

T wftaferd soieei=al 8
®
(1) ifdd 99— (CHO )

)
STSFATIHTIA ST (CHCly)

®
SEFARMIA A (CHCl )

SEFARHTEH (:CCly)

(2)

3
4)

HIaifrdfctsh Tl o FIUATH THCT MVh FeIuH
I Ufcegssl, ISl 9o I8 % foh Uchlgial 4
I Bid & | I8 Tohdeh HIT BT B ?

(1) HEFIAE A= & s °

(2) HIaTfedfcish Tl i AfYh AR TUE TS
Ted SATHIU Sell o g Bl 8

3F=q:3MfUeeh FTEeIoH S8 a1 °
FAUATTIH BIEGIH qoH T &

3
(4)

160. T Afik & A, CgH;,0 S fF NaOI (Y i sifufsean

NaOH & oieh s 1) | 1fufshan sk enerfores
Y ot diel S8y a1 @ |
A 3R Y AT §

{ - CH, - CH, - OH i1,
@ ¢ ) CH — CH; s L,
OH

(D

HyC ~_ - CH, - OH 3R I,

CH,

4) CH, G OH 3 I,

(3

158. In the reaction

159.

160.

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

)

(1) formyl cation (CHO )

S]
(2) dichloromethyl anion (CHCI;)

@
(3) dichloromethyl cation (CHCl)

(4) dichlorocarbene (:CCly)

Carboxylic acids have higher boiling points than
aldehydes, ketones and alcohols of
comparable molecular mass. It is due to their

(1
(2)

even

formation of carboxylate ion

more extensive association of carboxylic
acid via van der Waals force of attraction

3
4)

formation of intramolecular H-bonding

formation of intermolecular H-bonding

Compound A, CgH,,0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

Q CHZ - CHQ —OH and 12
(2) Q ?H - CH3 and 12
OH

(1)

(3) HsC CH, - OH and I,

Hs

c
CH, @ OH and I,

(4)
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161. F=fafaa sifufsrn sf@en 4 gea 3¢ P, Q 3R R
ﬁ%ﬂﬁ?:

J

EEK]

AICl,
+ CH30H20H201 —

(i) Oqy

o > Q+R
(ii) H3O*/A

P Q R

CH,CH,CH; CHO  COOH
NelNeNe

CH(CHy),

OH
@ CH;CH(OH)CHj

CH,CH,CH;  CHO

) cnen,-on
OH
CH(CH,),
(4) @ CH; - CO — CHj

162. ffafaa 4 4 9w A faeem@a s gl
?7?

(1)
(2)
(3)
(4)

(2)

(3

161. Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
1,
@ + CHzCH,CH,Cl ———=—
(i) 0,
—— > Q+R
(i1) H3O*/A
p Q R
CH,CH,CH; CHO  COOH

Q0.0

H(CH,), OH
@ CH3CH(OH)CH;

C
(2) @ ’
CHO

CH,CH,CH,
OH

3

@) CH; - CO — CH,

162. Which of the following compounds can form a

zwitterion ?
(1) Acetanilide
Benzoic acid

(2)

Aniline

3

(4) Glycine
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163.

164.

165.

166.

167.

aTest e TR § TN Uk ‘o’ TEld @
(1) 7| 3Rl & 3 &

(2) T\ 3vpetl & Ae Iufeyd fagq-a9 @
(3) T Ui & T &

(4) 9 Y3 & ALY RNV FAl

Teiam arfirfpan
MnO, +Cy0F + H* — 5 Mn?* + CO, + Hy,O

¥ forw wafer T  fore SRR % T oI
3

MnO; C,07- H'
1 2 5 16
2 2 16 5
(3) 16 5 2
4 5 16 2
IE AR h1 TN A5l Sl AT FRAT ST 2,
A I Hife AR o Ty 374-37y FrA
(1) SO earg
(2) o g 2
(3) e B B
(4) miEfdd w3

Xy, Yy 3R XY 1 3y forlis Fiati i Agurd
1:05:1 8 | XY &% fmam i woed
AH = — 200 kJ mol™! 2 | X, &l ey foritsm it
il
(1)
(2)
3)
(4)

arfifsren @ fafafga & @ H-dt gen tfereman 3cme
frmfor & fore sererf 2,

A, () + By (g) = X, (g)
=1 a wa = g
3= 99 W@ A TE
=1 a9 v 3= T

3= dM g 1 T

100 kJ mol™*
800 kJ mol*
200 kJ mol !
400 kJ mol*

AH=-XkJ?
1)
(2)
(3)
(4)

163.

164.

165.

166.

167.

The correction factor ‘a’ to the ideal gas equation
corresponds to

(D
(2)

volume of the gas molecules

electric field present between the gas
molecules

3
(4)

density of the gas molecules

forces of attraction between the gas
molecules

For the redox reaction

MnO; +Cy0%” + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 2 5 16
@) 2 16 5
3) 16 5 2
@ 5 16 2

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) is doubled

(2) istripled

(3) ishalved

(4) remains unchanged

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5 : 1. AH for the formation
of XY is —200 kJ mol ', The bond dissociation
energy of X, will be

(1) 100 kJ mol*
(2) 800 kJ mol ™!
(3) 200 kJ mol™*
(4) 400 kJ mol™*

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay(g) +By(g) = X5(g) A H=-XkJ?
(1) Low temperature and low pressure
(2)
3)

4)

High temperature and high pressure
Low temperature and high pressure

High temperature and low pressure
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168.

169.

170.

171.

I 6 HW & q W bee T Bt 8 | 900°C &
IR g fee TEAT § REfdd & ATt B | 3T & HR
% Q9 9 T H1 900°C A9 T T T ITIT B
(W ST 3T T Aol ge|™ T 9RATY] Brsem am
% @y TR §)

43
3v2

(1)
(2)

3

4)

Frafafea wfivfie w fomm i -
CN*,CN~,NO da1 CN
T U foradhl S=au ey Hife 7 ?
(1) CN~
(2) CN*
3) NO
(4) CN
T s o= (X) @ Atk i T T
Afies @ ® | e (X) w1 Feraw sewen #
AR faamE 1s? 252 2p3 R, a1 3@ Affs @
I 7
(1) MgX,
(2) MgyX
(3) MgyXs
(4) MgsX,

Frafafea @ & -1 w9 orgeT 8 2

(1) T %k oA Faien st o ffée 3 e
Th WY H Th $AEL AR FlCH HEAS §
ffdz 2

N U] T gl fa=ma

162 252 2P} 2p 2p,

PO LA R

‘s Heh T TG P HA hHelh IV FaT
I % S R |
dZQQSf\FI'QmEF[ﬂ'I'—T}{EJ%I

=l 3

(2)

3

(4)

168.

169.

170.

171.

Iron exhibits bec structure at room temperature.
Above 900°C, it transforms to fcec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

(1)

5%

4

2) 33

3

(4)

I it g

Consider the following species :

CN*, CN7, NO and CN

Which one of these will have the highest bond
order ?

(1) CN~
(2) CN”
(3) NO
(4) CN

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 152 2¢2 2p3, the simplest
formula for this compound is

(1)  MgX,

(2) MgyX

(3) MgyXs

4) MgX,

Which one is a wrong statement ?
(1) An orbital is designated by three quantum
numbers while an electron in an atom is

designated by four quantum numbers.

(2)

The electronic configuration of N atom is
1s2 2s2 Zp;lz Qp; Zp;
Hy L

Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

3

4)

The value of m for dz2 is zero.
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172.

173.

174.

175.

ffafiga foe@at = NaOH twd HCL i fig-fim
Hrgdrsli U 3Tl o {90 & s9mn T B

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

0 ¥ fohgert pH, 1% SR 81T ?
(1
(2)
3
4)

o T 0w

freafafes @ @ #9-8 0 W A At Thed &
et et 2 2

(1) had TR & HR T

(2) SRE & QY IR g Ay g gAl W

(3) hadl T o AT YHATIT W

(4) had A & AW Fog |

NH,, H,, O, @1 CO, % fou aret area e
HAM: 4-17, 0-244, 136 TS 359 feu wuw ¥ |
F=fafad @ @ 9 19 o9 EE @ giad 8 S
7?7
(1)
(2)
3)
4)

Hy

O

NH,

CO,

BaSO, I 298 K W I § forerar 2:42 x 1073 gL~
2 | Toreteran oRe (K ) 1 7H &

(e ™ & BaSO,, %1 HIGR oMM = 233 g mol 1)
(1) 1:08x 1072 mo12 L2
(2)
(3)

4)

108 x 1074 mol? L2
1:08 x 1071% mo1%2 1.2

1-08 x 10" mol2 L2

172.

173.

174.

175.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60mL M HCI + 40 mLL M NaOH
10 10

b. 55 mL E HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1) a

(2 d
3 b
4) ¢

On which of the following properties does the
coagulating power of an ion depend ?

(D
(2)

Size of the ion alone

Both magnitude and sign of the charge on
the ion

6))

The magnitude of the charge on the ion
alone

4)

The sign of charge on the ion alone

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4:17, 0-244, 1:36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) Hy

(2) Oy

(3) NHj4

(4) CO,

The solubility of BaSO, in water is

2:42x1072 gLl at 298 K. The value of its
solubility product (Ksp) will be

(Given molar mass of BaSO, = 233 g mol 1)

1-08 x 102 mol® L2

(1)
(2)
3

4)

1-08 x 10" mol? L2

1-08 x 10719 mo1%2 1.2

1-08 x 10 mol® L2
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176.

171.

178.

179.

180.

et [CoCly(en),] GRI SEfid THTSREIAT 1 JhR &
(1) SUHEHIS THTEIEAT

(2) AR "HTSR—EdT

(3) U EETIHAT

(4) S GHTEEEAT

Frafafega o @ S-a1 3 d-d GhAvT guidT 8 a
1Y & SAgFehed i ?

(1) Cr,02”

(2) MnO,

3) CroF”

4) MnO;~

IR e, Fe(CO)5 8
(1) Thhgh

2) Bergs

(3) AqhohgH

) fghzs

Hiam 1 4 fqu MU arg 3mEl @l wiew 11 § fgu M
ARAT %k RO grEch omEn ¥ fiemsu qen
@1 "oha w1 fAfdse hifsre

Ficrd [ HicrH 11
a. Co’* 1. J8 B.M.
b. Cr’* ii. /35 B.M.
c. TFedt iii. 3 B.M.
d. Ni* iv. /24 BM.
v. 15 B.M.
a b c d
1 i ii ii iv
@2 iv i ii iii
3 iv v ii i
4 i v i ii
[Ni(CO),| G I il we grahr or 3
(1) —gshaAhE SATHIT Td Sfagraehi™
(2) o GHdelt sarfufd T SEgrEhE
(3) ot wuaelt sfufa wa wfogreh
(4) TIHCAh SATHT T ST

176.

177.

178.

179.

180.

The type of isomerism shown by the complex
[CoCly(en)sy] is

(1) Coordination isomerism
(2) Ionization isomerism
(3) Geometrical isomerism
(4) Linkage isomerism
Which one of the following ions exhibits
d-d transition and paramagnetism as well ?
2-
(1) CI‘207
(2) MnO;
9_
3) CrO}
4) MnO;
Iron carbonyl, Fe(CO)j is
(1) mononuclear
(2) trinuclear
(3) tetranuclear
(4) dinuclear

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column I1
a. Co>* i. 8 BM.
b,  Cr3* ii. /35 B.M.
c. TFe3* iii. 3 B.M.
d.  NiZ* iv. 24 BM.
v. /15 BM.
a b c d
1 i ii iii iv
@2 iv i ii iii
3 iv v ii i
4) i v i ii

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) tetrahedral geometry and diamagnetic

(2) square planar geometry and paramagnetic
(3) square planar geometry and diamagnetic
(4) tetrahedral geometry and paramagnetic
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NCRIRCE ﬁ@'rq“
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ot QEI et 2 frfig § ) 313'&[?1 their conduct' in the Exgmlnatlon Ha?l. All
o ¥ T S g = qle % cases of unfair means will be dealt with as
o . per Rules and Regulations of this
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